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(SH g/ m*)
T2 | €Al | PM-10 | As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
07.10 23 0.0010 0.0040 0.0006 0.0036 0.0094 0.2112 0.0007 0.0680 0.0000 0.0672 0.0038 0.0322
07.11 13 0.0006 0.0030 0.0004 0.0030 0.0064 0.1332 0.0005 0.0455 0.0000 0.0331 0.0027 0.0134
5t 0712 10 0.0001 0.0017 0.0001 0.0035 0.0049 0.0998 0.0004 0.0495 0.0000 0.0258 0.0025 0.0082
07.13 17 0.0004 0.0027 0.0004 0.0059 0.0041 0.1431 0.0008 0.1418 0.0000 0.0605 0.0030 0.0147
07.14 9 0.0004 0.0005 0.0006 0.0008 0.0022 0.0489 0.0000 0.1061 0.0000 0.0262 0.0025 0.0088
07.10 23 0.0018 0.0037 0.0005 0.0080 0.0388 0.4364 0.0091 0.0839 0.0000 0.0695 0.0100 0.0262
07.11 16 0.0010 0.0030 0.0002 0.0089 0.0535 0.4283 0.0122 0.0802 0.0000 0.0852 0.0104 0.0214
= 07.12 16 0.0012 0.0024 0.0001 0.0121 0.0574 0.4504 0.0128 0.0867 0.0000 0.1012 0.0112 0.0227
07.13 17 0.0009 0.0045 0.0002 0.0073 0.0449 0.4252 0.0167 0.1197 0.0000 0.0583 0.0100 0.0195
07.14 7 0.0002 0.0011 0.0001 0.0036 0.0217 0.2007 0.0066 0.1032 0.0000 0.0450 0.0063 0.0116
07.10 15 0.0008 0.0028 0.0001 0.0023 0.0084 0.0781 0.0002 0.0560 0.0000 0.0204 0.0019 0.0292
07.11 5 0.0005 0.0008 0.0000 0.0015 0.0075 0.0208 0.0000 0.0432 0.0000 0.0102 0.0007 0.0086
O}’ZF— 07.12 4 0.0002 0.0004 0.0000 0.0027 0.0646 0.1889 0.0000 0.0552 0.0000 0.0155 0.0015 0.0105
07.13 5 0.0000 0.0002 0.0000 0.0017 0.0133 0.0628 0.0000 0.0839 0.0000 0.0183 0.0009 0.0065
07.14 5 0.0002 0.0000 0.0000 0.0004 0.0006 0.0092 0.0000 0.0374 0.0000 0.0243 0.0001 0.0063
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= [0)
As & Y FEFAAN T HA (-3 ~ -66%)
A S H =
O ZAY FEW HE u
@) 3 o) Z 3 0, A~ Z0
- $(Pb)2 0.0021ug/m 2 373 71=0.5ug/m)e] 0.41% T+

- d(Fe) 0.1958pg/m 2 127 &5 5 714 =&
- Fe(0.1958) > Mg(0.0774) > Ca(0.0440) > Mn(0.0225) > Al(0.0160) > Cu(0.0045)

> Ni(0.0044) > Cr(0.0040) > pb(0.0021) > As(0.0006) > Cd(0.0002) > Be(0.0000)



(SH g/ m*)

F&2 [PM10| As | Pb | cd | Ni | Mn | Fe | Cr | Mg | Be | Ca | Cu | Al
5t& 14 10.0005|0.0024|0.0004|0.0034(0.0054|0.1272|0.0005{0.0822|0.0000|0.0426|0.0029(0.0155

A | - - - . . . - - - - - - -
= 2 | 3¢ 16 0.0010/0.0030{0.0002|0.0080(0.0432{0.3882(0.0115{0.0947|0.0000{0.0718{0.0096|0.0203
Op 7 |0.0003|0.0008|0.0000{0.0017(0.0189|0.0720|0.0000{0.0551|0.0000|0.0177{0.0010{0.0122
gz 12 |0.0006/0.0021(0.0002|0.0044(0.0225/0.1958(0.0040(0.0774|0.0000|0.0440{0.0045|0.0160

H = 22 10.0007|0.0049|0.0002|0.0045|0.0403|0.3875|0.0037|0.0602|0.0000/0.0887|0.0057|0.0907

e s 15 ]0.0017|0.0061{0.0004(0.0028|0.0342|0.2385|0.0020{0.0797|0.0000{0.0846|0.0064|0.0437

- -12% | -58% | 11% | -3% | -44% | -49% | 8% | 28% | 0% | -50% | -22% | -82%

- -64% | -66% | -49% | 55% | -34% | -18% | 103% | -3% | 0% | -48% | -29% | -63%
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PM-10 Pb Cd Mn Fe

Be

Ca Cu Al

0.0005|0.0024(0.0004/0.0034/0.0054/0.1272|0.00
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0.0822
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0.0426|0.0029|0.0155
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23 |0.0006/0.0069|0.0002/0.0063|0.0445|0.4548

0.0094

0.0559

0.0000

0.0905|0.0077|0.0647
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- G(Pb)-& 0.0008ug/m & 37 7] Z0.5ue/m)2] 0.2% F==<)
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(SH2 =g/ m?)

T = PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al

= E 7 |0.0003|0.0008|0.0000|0.0017|0.0189|0.0720/0.0000(0.0551(0.0000{0.0177(0.0010{0.0122

oA 21 10.0013]0.0040|0.0002|0.0038|0.0652|0.4423|0.0008|0.0750|0.0000/0.0766|0.0057|0.1399

M52 | 14 |0.0008]0.0024|0.0001/0.0028(0.0421(0.2571/0.0004|0.0651|0.0000|0.0472(0.0034|0.0761
x el
SEl |- | TA% | T9% | -78% | -55% | 71% | -84% | -94% | -26% | 0% | -77% | -83% | -91%
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Sg | - | -58% | -65% | -64% | -38% | -55% | -72% | -88% | -15% | 0% | -62% | -70% | -84%
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T = Pb cd Cr Cu Mn Fe Ni Al Ca Mg As Be
Z'd |0.0049|0.0002|0.0037(0.0057|0.0403|0.3875 | 0.0045 | 0.0907 | 0.0887 | 0.0602| 0.0007 | 0.0000
o E
(23.6) £4F10.0082|0.0000|0.0126|0.0089(0.0259|0.5418|0.0032(0.1417|0.2700{0.0894|0.0017|0.0000

0.0543|0.0032|0.0020|0.0245|0.0315|0.5074|0.0040|0.1752|0.4283|0.1347|0.0129|0.0000
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Zd 3 I IIg)
O =A71zF : 2023. 7. 10. ~ 7. 14.
(EARLE B3
(¢9 : mm)
48 =
T = AWS 1LX} | 22X} | 3K} | 42K} | 5K} ol A N
=T d+e
Stes= S5ts 71.0 0.0 0.0 0.0 0.0 12 71.0
HM S S5 - - - B, _ )
=2 | Ot | 1935 0.0 0.0 0.0 0.0 14 193.5
oIF& A 162.3 0.0 03 0.0 0.0 2 162.6
KSAHALE HA7|2
(&9 : )
T = 1LX | 2¥XE | 3¥XF | 4¥XE | 5UX}E S | E Yo
Stea 26.3 24.4 24.1 25.4 25.4 24.1 26.3 25.1
HME - - - - - - - -
U5 27.0 26.0 25.6 26.5 26.1 25.6 27.0 26.2
OtF = 26.4 259 25.0 26.5 27.1 25.0 27.1 26.0
(EARALE £5)
(24 : %)
T = 1LX}E | 29X | 3¥UXF | 42X} | 5UKL P k| Y
Stea 92.8 99.8 100.0 99.3 99.0 92.8 100.0 98.2
HME - - - - - - - -
S4E 81.6 87.0 87.9 86.9 89.0 81.6 89.0 86.5
OtF & 86.5 90.3 92.6 88.1 83.3 833 92.6 89.4
(EAHLE F5D
(24 : m/s)
T 1L Xt 22U X} 32X} 4U X} 5 X} ES P | E | oz
Stea 2.8 1.9 1.9 20 23 1.9 2.8 2.2
HM S - - - - - - - -
S4E 0.8 0.7 0.6 0.7 0.9 0.6 0.9 0.7
OtF & 0.6 0.9 0.5 0.8 23 0.5 23 0.7
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